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A. EmAEETE TN owOoTA atmravnon. A B r A ™Tnon
a
1 AvaBER pe a>0 kar B>0, 1OTE: -af>0 a—p>0| af<0 E>0
2 Av XER pe x> -5, 161€! —x<5 | —x<-=5 | x<-x | Xz-X
3 AvVXxYyER pe x<—1 kal y =8, 10T1¢: Xy<—8 xy=2-8 | xty>27 x-y=-9
1
4 AvXxER" kal yER pe x24kal y< =5, T161€: xy <0 ;24 xty<=1| x-y=9
| 2 1
5 Av x ER* kal y ER pe x<3«kal y > =3, 101€: x =8 yY¥'<9 | x-y<6 ;>0
B. TlMolég amro TIg TTapakdaTw OXECEIS Eival CWOTEG Kal TTOIEG AGBOG;
2nNUEIWOTE uE X aTNV avTioToIXn OTAAN. )3 A

1 Av a>3 T101€ 30>0

2 Av a>3 Tto1e a>3

3 Av a>3 101c —a>-2a

4 Av a>3 kal B<2 161¢ aB>6
5 Av a>-3 11 o’>9

6 Av ;>3 16T O > 3B

7  Av a-B>0 1618 &“—B°>0

8 Av a>B T0TE A—X<B—X

9 Av xT-H>1 161 x>0

10 Av x+)1(>2 T0TE X >2




